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Why Do Flies Always Bring
Their Stopwatches to Parties?

Write an integer for each exercise. Find the point on b

hé number line that nS._.amnc:Lm

to the integer. Write the letter of the exercise above the number line at that point.
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| — |
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<A——————————1
—20 -5 -10

Write an integer for each
_ situation.

@ 3 units to the left of O
@_ the opposite of 8

e 15 {t above sea level
@ a gain of 6 yd

° 5° below zero

@ a deposil of $20

@ 14 steps backward
@ four seconds aller liftoff
e a loss of ten pounds
@ one :&9. down

@ 19 m below sea level

e the opposite ol —11

Write an integer for

0

each expression.

D -7
@ 19
O -1
@ 18]
@) nifn
& -nifn

it

16

~16

€ -2 + 8)
@ |16 - 11|

& 19|
@ -1-15]

e Jxf ifx=-12
@ x| ilx=-12

(1 1
T T L

i
10 15 20

Write an integer for each question.
e Which is greater, 2 or =137
Q Whicli is greater, =7 or —67
@ Which is greater, —11 or 97
Q Which is less, —18 or —47
@) Which is less, |-20] or 197
€D Which is less, 0 or ~(-3)?

The table below gives the starting point,
direction, and length of arrows drawn on
the number line. Complete the table by
writing the endpoirit of @ach arrow.

Starting Point Direction, Length Endpoint

0 negalive, 4

€

-2 positive, 9

= negaltive, 9

5 positive 13

positive, 23
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=(11-)-(5-8+¢e-) (A) =z-yl+8l— (8) =9l +¢€-

®

=(r+1-9-)+01 (W) =g-§-2- () =(r-)-¢1 (N)
=(be-2e)-2 (1) =(9-¥-) - (05 +52-) (5) =(9-)-9e~ (@)

= (or-) - @1 —€-) (X) =(L-6)-(t-8) @) =sz-0e (1)
=5-5-5-5- (0) =(e1 -5 - (st -5t-) (H) =L-1- (V)
=9+2-6+91- (D) =@+2-)-0-9 (1) =(9-)-¢ (8)
=g—0L—0v+£- (1) =(01-8)-01- (3) =(8-)+0e (3
=21 —9e+21 — 96— (8) =1L —(ee+e2-) (5) =W1-)-z2t— (L)
=y—t~v-01 (9) =(6-1-z2 (0 =1-2 (H)
=6+.6-001 (3) =(s-g)+0e (V) =(1-)-t (V)

®

=.-2t-5 (W) =91 -5- (3) =g—g-
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OBJECTIVE 2-h: To subtract integers.

ALGEBRA WITH PIZZAZZ!
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